.
0 |
| ‘ Flange | ; B
_ | C 1
- .Ji;;';-‘c"- . {£73 1
W R | VT
Flange Head L T
4-Bolt Split Flange
Bolt Hose Dimensions
3000 PSI
Maat Dash A B C E Bout Bout

080 1/2 08 17,5 38,1 30,2 6,7 M8x30 5/16-18 x 1-1/4

5/8 10 34,0
100 3/4 12 22,2 47,6 38,1 6,7 M10x35 3/8-16 x 1- 1/2
102 1 16 26,2 52,4 44,5 8,0 M10x35 3/8-16 x 1- 1/2

104 1-1/4 20 30,2 58,7 50,8 8,0 M10x40 7/16-14 x 1- 3/4
106 1-1/2 24 35,7 69,9 60,3 8,0 M12x45 1/2-13 x 1- 3/4

108 2 32 429 77,8 /1,4 95 M12x45 1/2-13 x 1- 3/4
110 2-1/2 40 50,8 88,9 84,1 95 M14x45 1/2 -13 x 1- 3/4
112 3 48 62 1064 101,6 95 M16x50 5/8-11 x 2
6000 PSI
401 1/2 08 18,3 40,5 31,7 7,8 M8x30 5/16-18 x 1- 1/4
402 3/4 12 23,8 50,8 41,3 8,8 M10x35 3/8-16 x 1- 1/2
403 1 16 27,8 57,1 47,6 9,5 M12x45 7/16-14 x 1- 3/4
404 1-1/4 20 31,7 66,7 54,0 10,3 M14x45 1/2-13 x 1- 3/4
405 1-1/2 24 36,7 79,4 63,5 12,6 M16x50 5/8-11 x 2
406 2 32 44,4 96,8 79,4 12,6 M20x70 3/4-10 x 2- 1/2
2-1/2 40 58,7 123,8
3 48 71,4 1524

www.hydrauliekservice.nl / 0345 — 68 40 10 / info@hydrauliekservice.nl



